DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)
Name of the

) Departmental Test for Evaluation and
Test: Applied Research Department (Without| 070 .
Books)
Maximum Time: One Hour - Maximum Marks: 40 _~

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
QameT@M euemns 6T Sren

Read the following instructions carefully before beginning to answer the
questions.

ANeT&ESEEHG aNmLweN&Hss QHTLRIEGWD (6T SDE&HEIL. M6 DHD 6
SEUGTLOMSL UG 656D,

1. This computer based Test contains 40’number of questions in objective
Type.

Anss sl aufld Cojeumeargl, 40 QamenGml eumsuilevmss eileumé&mend
Q&TETIIL_ &)

2. Answer all questions. Each question carries one mark
065G AOITESERHGL ol aldsa|ld altleum@m eflearmead (b
HUCILGTT 2_6mL W),

3 In case of doubt, English version is the Final.
aNeTsH&efed  FHGCHHD QLT RS eaugellsd QaTH&HSUUL [HeTer
eNet&&Ger @mySIimesg).

4. Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.

Qg elemsseailsy @LID QumieTeT g6 LTSSl cuM&em s safed
Coemaulilg 6,  &HesCanu  Quen  umedsTHSHeufledT  6uMjSHemn&&EnHLD
SILRIGLD.

5. Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:
eleuemiugnyy&eer senesfl eulflsy Coalnm@ oL weNsEssd QHTLRIEGLD
e salefluilesr  Seoguiled  CHmETMID  SIDQYEMTHENET  SHEUGITLOTSL
Uy H&6LD.

a) One question will be displayed on the screen at a time.
@Gy Crrsdev @ allerm WLHGCWL sHaMeaflls SHequiley CHmeiTmLD.

b) Time available for you to complete the examination will be displayed through
a countdown timer in the top right-hand corner of the screen. It will display
the remaining time as Time Left. At the beginning of exam, timer will show
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Economics is a study of mankind in the ordinary business of life’. It is the statement
of
el GeenL W eUTPEESUIET DHESTDTL. L GUlG&a&EHEMET LM Qumpeilwed L rmidng erem)

Fa MW
(A) Adam Smith (B) Lionel Robbins
<L beLdlS G evwiered gri9lenmen
(¢ Alfred Marshall (D) Samuelson
D e ol AT DM TOED gnupGauchgen

Which of the following is a microeconomics statement?

Spssem_eunile 61 miemantud CUTBHAaTTSTID STTHSE!?

(A) The real domestic output increased by 2.5 percent last year
SL15& & e arano 2 dTl(H 2 puss 2.5% siflslsgdrang)

(B) Unemployment was 9.8 percent of the labour force last year.
SLhs e 9.8% 2 msEb s4d Gouemauiemeaio Hlamlibupmerarg

(})f The price of wheat determines its demand
Gargenwuian alme Sigar Comaimw Bliamuilsdng

(D) The general price level increased by 4 percent last year

sLHS <pa(h) Qurgieiana 4% idlsflgglerang

The basis for the law of demand is related to
Sipssa elfamw Comael 698 gLl wTes Garan(Hameng)
& Law of diminishing marginal utility
Gopnhg Qsw @ndflame uweaum ( elg
(B) Law of supply

Saflly eSld)
(C) Law of equi-marginal utility
g0 @miflBlenes LweLim (5 645
(D) Gossen’s Law
Fmenes el
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4. Pick the odd one out
wpraulLeng Csfley Qs
(A) Luxuries (B) Comforts
<L DL LIGHSTL_MBI&EIT cusdl LIGHTL_mIGET
(C) Necessaries Mgricultural goods
DISSHWTeUEIW LIehTLBISET efleugmus QummLger
5. In case of relatively more elastic demand the shape of the curve is
Bensd Gamen Qpdlpss o dter Cenaid GaTLig 6T 6ulg QULDTES)
(A) Horizontal (B) Vertical
U dlen Cl&mG58)
(C) Steeper (D/Flatter
eflengmg flyd Quogieuna #flujb
6. The long-run production function is explained by
Sar_sme e husE Fmi erger apad SAHluLUBHDS?
(A) Law of Demand (B) Law of Supply
Caeneu eilfl <jefliiy el
(9/ Returns to Scale (D) Law of Variable Proportion
98s siearey eflenara] alF wrpreddlg oiearey eflenera| afldl
7. Which of the following is not a characteristic of land?

Spseareupmier ergl Hlagdlen HnlsudL Slde?

(A)  Its limited supply
Gem el

(C) Heterogeneous (D)
Ueuens U (HID

028/DM/21
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The locus of the points‘which gives same level of satisfaction is associated with
g0 et Hopudow QerThéssemgu Udalsmer Qoams@n Carrearg @lseiLen

Qsm_ryenLweney

(y Indifference Curves (B) Cardinal Analysis
swCpréE euamerCamHaer GuieQueT ,Uie|

(C) Law of Demand (D) Law of Supply
Gaaneuedlg) sjaflliyeld

Payback period is
w198 Qe $gIb &reid eTarLig)
( Investment/ Annual Cash in Flow
PSS B /<2 esT () LaRTUILLp&SLD
(B) Annual Cash Flow/Investment
<& ([H LewtILp&sLDd [ (psad(h
(C) Investment/Annual Cash in Flow x number of years
Wp5SH [ () LammiLpasD X amrhisafen oramenisms
(D) Investment/Annual Cash in Flow minus
WsSH | () uaTliLWasb sEsH parhisaflar eraantlsme

Wage 1s an example for cost of the production.
50600 ———————— QFw6ysHEE T(HSHGHIHHTL L TGLD.
(A) Fixed g Variable
rmIT LOMMILD
(C) Marginal (D) Opportunity
@mdlblea eumLiL]
Long-run average cost curve is also called as curve.
S sre synefl QswesGan® ——————— Gan() eren S@L&&IURE DS
(A) demand (Vplanning
Coemeus L
(C) production (D) sales
2 HuGS il Liene
5 028/DM/21
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12. An Iso-quant curve is also known as
g0 2 HUGSHE Carig e Geum Gl

(A) Inelastic Supply Curve (B) Inelastic Demand Curve
Apdpsflunm saflly Cam QArdlpsslwupn CoamausGan()
(C) Equi-marginal Utility (}})’ Equal Product Curve
& - @mdblene LwerLm & 2 Husd euener Gam(h

13.  Find total cost where TFC = 100 and TVC = 125
Qurés wrmré Qe 100, Gorgs wrmib Ggae| 125 erafld Cwnéss deweaneud &SeTEHS ()&
A) 125 (B) 175
(9/ 225 (D) 325

14.  Which one of the following is not a point in the Welfare Definition of Economics?
618 QUITHETTSTT B @)VSSHENTLD SMTHSSHEV ?
(A) Study of an ordinary man
Engmyent algamen s LHHIL Uig LG
(B) Economics does not focus on wealth alone
QumrpaTTg b Gedeud Bg i Hib seafl seuead Cegidsgieudldama
(C) Economics is the study of material welfare
QummeTTSTID eremmigy LiHLUIGILITHET Hevld FTbHS LIgLIL

( Economics deals with unlimited wants and limited means
QueTTETID  ereimemdn  eNHULBRSETLD, U@TUMISSIULL  GUETRIGEETILLD
unHlug
15.  When Price remains constant, AR will be MR.
efeve Hlavowrs @méEnGurg, AR Garlh MR Genl & —————— <36 QHHE0.
(ﬁy/ equal to (B) greater than
FLOIDMTE AL
(C) less than (D) not related to
GEMEUTE Qgm_frumm

028/DM/21 6



16.

T

18.

19.

20.

21.

[ 4

Profit of a firm 1s obtained when
eriGumgy Himeuard @emuid Gump (pigub?

(A) TR<TC (B) TR-MC
(9/ PR STE iy Th=1TC

An example of selling cost 1s

ellpuenar Geaeilng 2 srremid

(A) Raw material cost (B) Transport cost
s&am’ Qummer eflaney CunsEaurss Qeway

(9)/ Advertisement cost (D) Purchasing cost
aflemiouy GFevey Qamerpse Cawea]

According to the Loanable Funds Theory, supply of loanable funds is equal to
sLer Hdé Carlur_igang sLar fsaflen siefluy Q§DEE #nMELD.

(" S+BC+DH+DI (B) I+DS+DH+BM

(C) S+DS+BM+DI (D) S+BM+DH+DS

The median of 10, 14, 11, 9, 8, 12, 6
10, 14, 11, 9, 8, 12, 6 <y Hweinidler Gean_Hlene

g 10 ®) 12

C) 14 D) 9

The harmonic mean of the numbers 2, 3, 4 1s

2, 3, 4 o flu aramsaien Qeanagsayna

(A) 12/13 B) 12
w 36/13 (D) 13/3

The geometric mean of two numbers 8 and 18 shall be
8 whmib 18 e dweunhblen QLmase syma

w12 (B) 13

(C) 15 (D) 11.08

7 028/DM/21
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22, IfQ1= 30 and Q3=50, the coefficient of quartile deviation is
Q1= 30 whmb Q3=50, erafled sreren eflewdss Cl&wwp

(A) 20 (B) 40

(C) 10 0.25
P

23.  Example for positive correlation is
Gemeumeuaeuniley ereney GoflanL gl Hmessrer o (HSGISHTLLTEGD?
9)/ Income and expenditure
au(HeUTL HMID ClFway
(B)  Price and Demand
eflene wHmd CHenal
(C) Repayment period and EMI
HpLil9F CeQisgib &b WHMILD &L LDMSEH Seuenemnt
(D) Weight and Income
Hlenm HMILD eu(Heum

24, If the values of two variables move in same direction then the correlation is said to

be

Q@wrhsaier wdliLser @Cr Hamsude pamb erailan gl (Hpey

(A) Negative M Positive
erdlflenL Crflen

(C) Perfect positive (D) No correlation
wpperwrer GrflenL L (Hney Gerena

25. If Cov(x,y)=-16.5,0x* =2.89, 0y’ =100 . Find correlation coefficient.
Cov (x,y)=-16.5,0x> =2.89, 0y’ =100 erafley pL(Hme| Q&(peneus smews.

A -0.12 (B) 0.001

i R, | }19( —0.97

028/DM/21 8



26.

217.

28.

If r = —1, then correlation between the variables
r=-1, erafled wmlaEsédamCuwrear gl Hpeys dew

(A) perfect positive QB( perfect negative
wppamwwirer GhilaLwireg) (P (LHELDWITET erélMepL_wireng)

(C) negative (D) no correlation
ardlMenLwimeg) L (Hmey Gerera

In Tamil Nadu An Economic Appraisal (2011-12 to 2013-14) Publication, Water
realization in Tamil Nadu from various reservoirs in tmeft, are sourced from
s800Em® @@ Qur@gerrsmy wHUSTE (2011-12 ¢pge 2013-14 eueny) Qeueluiigev,
sBpET e Qer@ssiulL uatGan 6is Csbsnsaiambsl sllpssda BT o @rige
G@NES HT6 SN, ——————— EPEVLD QULPMBISILIL L &)
@/ Public Works Department

Qurgls uenflggiemm
(B) Department of Agriculture

Geuermen glenm
(C) Department of Agriculture Engineering

Geuermenr Qurmullwed genm

(D) Department of Agricultural Marketing and Agri-business
Geuernant shansLIL(BHSeD wHmd Ceuarradr cuanilss gienn

In Tamil Nadu An Economic Appraisal (2011-12 to 2013-14) Publication, the data on
the functioning of Primary Health Centers (PHC) in Tamil Nadu are given by
s0pETH @@ Qurmertsry wHUISH (2011-12 epser 2013-14 euey) Geuefuii_1gev,
s OB g6 Tbu s&rsTy Haownsada (9.68.48) deawudurpsedr GNSS BT ASTILD
——————— (PALD GULPRIGLILIL L §).
(A) Directorate of Medical Education

LD(HdGI6U &6l @UISEHISHLD
(B) Directorate of Medical and Rural Health Services

LD(HSSI6U OHMILD glymo ssrsny Caameuser @uUSEbI&D
(C) Department of Family Welfare

G bube gemn
(}}f Department of Public Health and Preventive Medicine

Qugl &&TSTID WHMIL SHUL DBSSIC S

9 028/DM/21
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29. Identify the sectors of a Two Sector Model.

@ mgiep i Nufd 2 drar @ mgampsamer GHLIAGS.
Households and Firms
& DLIBISEHLD Blmieu e @EhLD

(B) Private and Public
saflwmt wHnid QUTgISgIemD

(C) Internal and External
2 epr () wHnib QeuallbrH& gempaer

(D) Firms and Government
I MIGUGTaIG (EHLD IJ&LD

30. Identify the flow variable
Spaupeuareupmier gL orhleflenw sar (il

(A) money supply (B) assets
Lient ety Camdgisaser
Income (D) foreign exchange reserves
U (HEU T Qeuefipr(hé Qeeeurant @mUiL

31. In Tamil Nadu An Economic Appraisal (2011-12 to 2013-14) publication, under the
explanation of Structural Shift in Gross State Domestic Product—Tamil Nadu
(Table 2.8) does not state that
sOPBEM & @@ Gurmeamsry wHOEE (2011-12 g 2013-14 aey) Qeuafluiiigev,
Qurss wrhle  edaprl@ 2pusduiied  slLewly  WwIHHSEE EEETILINCH
(oIl Leueman  2.8), elersagdear  ECp  Gar@esnul(herer Seswmisailsy  eremen
gamUiLL_efebene
(A) The share of primary sector in GSDP computed at constant (2004-05) prices
declined to 7.76 percent in 2013-14 from 11.87 percent in 2004-05
Hlevaowner (2004-05) eflemeude samsduulL Curss 2edmmpr( 2 Hugdulled
wsaeows gonuia ukig 2013-146 7.76 sspeisonas Goppg 2004-05 <
<pa@ige 11.87 sgeigons @Qhbss)

(B) During the corresponding period, while the share of secondary sector hovered
around 29 to 31 percent with minor variations in some years
QsriilenLw sras LgHe, @rarLmb Hlaa gremuden LikiE o yarBsaiao Spuw
wrpur@seser 29 (pse 31 s660dlH0 euamy 2 WThHg)eTars)

(C)  The share of tertiary sector expanded from 57.23 percent to 63.70 percent.
eparmmid Hlanew gravmullen Likig 57.23 sp6aisselmbgl 63.70 sgaisons elfleua. Hss)

}B‘f Eventually, the State economy has become primary-producing from

service-led
@mdude, wrhe Qurmanmgryb, GCeameuddmbg, efleusmu <ilg LiienL_ullevmen
QurpeTTTyOmE THHLIULL &)

028/DM/21 10



32.

33.

34.

Among the southern States, during 2011-12 to 2013-14, the overall debt — GSDP
ratio was the lowest in
Qgenorhlemsaila, 2011-12 apge 2013-14 cueny, @ (OIS sLer - &l.eTa.1q..19. elldlgid

A&& @Genmeuns G (Hbs mbletd

( Tamil Nadu (B) Kerala
SOIpBIT(H =

(C) Andhrapradesh (D) Karnataka
2 pHTUYTCsHEID SIBHTL_GT

Tertiary sector is also called as sector.

PPETDITLD Glenn ———— Graayb AMPESLILHEDS!.

M Service (B) Income
Lieuuflaer QU(RHLDITEDTLD

(C) Industrial (D) Production
Qgmfle 2 HuUSSH

Repo Rate means
QruGur eldlsb eremuger GlummeT
(A) Rate at which the Commercial Banks are willing to lend to RBI
cuanflls auridlser Maiel eundsEnsE elsEb sLausanear ol ly elldsib
93( Rate at which the RBI is willing to lend to commercial bank
ey eurid) cuanlls eurkidaEréE NaflsED sLaidaTar eul g eNEgL0
(C) Exchange rate of the foreign bank
oiBHw Qewrelamfl 65450

(D) Growth rate of the economy
Bl 607 eueTigsl elldlgLd

Critical region of a test is
e Gergamanuie SroralsEb LG eraug

rejection region (B) acceptance region
Qeneno smHg Camener LOI&ED UGS @laenwo &(mgGCaTameT g UEGE)
(C) sample space (D) subset of the sample space
gamGleuarfl gamiGeuafludiesn o | semrid
11 028/DM/21
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36. In general, large sample theory is applicable when

Qurgleurs, Qusd wrHME Cam_ur@adr LweaRSSUIUReug erlGurg erafled

(A) n>100 (B) n>50

©) n>40 2 n>30

37. What is the other name for concealed unemployment?

wernHH (HEHEGD Couameuierannd @ wH&Emmm ClLwim eremen?

(A) Open }B{ Disguised

b D@D (LPS
(C) Seasonal (D) Rural
LI(H6U ST oaTS

38. The number of deaths per thousand population is called as

<UD &S EREE @MUILIGUIT eTameanl&Eams eremLg)

yx( Crude Death Rate (B) Crude Birth Rate
&&&T @i elgid s&am 9pLiy elsb

(C) Crude Infant Rate (D) Maternal Mortality Rate
&g fl& eigid wsLGLm @nliy eisbd

028/DM/21 12



39.

40.

The Raja Chelliah Committee on Trade Policy Reforms suggested the peak rate on

import duties at

aITEss Oarams ETHHssmsd QSTLTLNG SEESUILLL. TreQT Qecvenawim @ pedlen

ufBgieriug Sfsul s @néEnd ahiss Simes ————— GO

(A)
©)

25 % (B 50 %

60 % D) 100 %

Net Present Value (NPV) 1s

Blar sHGuransw walliy (NPV) eremig)

(A)

(B)

(©)

Difference between present value of cash inflows and future value of cash
outflows

Lanr eureysafian sHGUT@SW LHNILEED Lerl uflwrhpsSer edliste &1L &ED
2 emer Geumiuim(h

Difference between present value of cash inflows and past value of cash
outflows

L eurelsaflen sHGUmsL LALUILEEGD Larl uflbrhpsdler phagul EIL&ELD
2 erer Geaumuim(h

Difference between present value of cash inflows and net value of cash
outflows

Lanr eureyaaflen sHGUT@sSW wHliLEED uar’s uflorppsder Har LSLLEEGD o drer
Geumiuim(®

SP/ Difference between present value of cash inflows and present value of cash

outflows
et eureysefler sHCUTeSW  LHILESGLD — LawTL uflorppsder  sHGLTERGW

wHULEED 26t Geugum

13 028/DM/21
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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST FOR EVALUATION AND APPLIED RESEARCH
DEPARTMENT

(Without Books)

Maximum Time : 1.30 hours Maximum Marks : 60

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
A feurer elewLwefl&@ euens elleTnggme

Read the following instructions carefully before beginning to answer the questions.
AarmssenéE edamLwalss QaTUraEb ey Shsae DY@ TEDET HEUATIONG LIlg&SHaD.

1. Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued.

el smer GALALFeter aamaismsseg dswons awdulmuder, devLggmafler @gﬂﬁuﬁ]@b
o drar ofs cranarisens@onar efeL s WHLSTE CewliuLmg.

2 In case of doubt, English version is the final.
Aamsseie s6Css8mudear mido algeld AarhasiurBere NemésGer Gmwirang.

PART -1

-~

1. Write short notes on the EIGHT of the following : (8 x 3 = 24)
stemeuCuignitd 61 B eNlennéaEné @ sl weflésea :

1 What is a Project life cycle?

UL auMbé&enss &Lpms eremmmed ereiar ?
EY P L

2. Why do we resort to sampling?

ger prb wrdils safluou pre&HCpmD?

[Turn over



3 Distinguish between total and marginal utility.

AY

Qurssls vwerur®, @nddloot vwearur® Ceupubsgs.

4. What is Index Number?

&GOS ClLakr eremmmed erebmen ?

B. What are the Rostow’s five étages of economic growth?

CrrevGLrellen mbg euamswrar euaTiésl Hlevaser wremal ?

6. Define standard error.

S ulenp euenumss.

T What is discrete probability distribution?

safl$s UTeled ST GTETDTed 6Teran ?

8. Distinguish between preventive and positive checks under Malthusian theory of population.

wregavdler — Ww&HET AgTmss GCariural QuiHms S s Qewnens senLser Counub S8

9. What are Bar diagrams and give its types?

LUl enl eSerésliuL b (Bar diagram) eremmmed eTeie ? HSE eUen&HSneT S,

10. The marks of 10 students in a class are given below. Calculate Arithmetic mean.
40, 45, 60, 65, 60, 50, 45, 30, 50, 55

@ eGuld odrer 10  wrereuisafler wHuQuarsdr &G GQsr@ssiul@earerar. i (b
syreflen s sansdl(s.

-

40, 45, 60, 65, 60, 50, 45, 30, 50, 55
PART -1II

II. Answer any THREE of the following: - (3 x5=15)
Spaeir_supnist gGseb apemens@ el wefléseyn

1. Explain Project Appraisal and its methods.
AL wHUSE LHHID BiFeT PEPE@ET 6ilaTéEs.

028/DM/21 2



IT1.

Explain the difference between value-in-use and value-in-exchange.

vweter Uy whmb uflbrhpb @eundler Caupur@aamer alfleTsHEs.
What is Elasticity of Demand and its types?

Gaeneu Qpdlpsdl (Elasticity of Demand) ereimmmed eretran? g6 euenssaT wWraneu ?

Explain how to construct index number using unweighted index numbers for the year 2005
on the basis of the base year 2000 from the data given below :

Commodities Price (in Rs)) ; -
. 2000 2005

Rice 15 20

Onion 10 16

2005-10 Syamger Hepulirs GHuUL L arsmer LweaUBSE DGO arsamer sasdl(s.
2000-1b @Tig6T figliueniuldled, £gf>a;rr@m Sl Leuemant epad  GHUALLuC Geter e
elleurhISET

LI 68T LBl G 6T alleney emumuie
2000 2005
<2 () <2 ()
St 15 20
GeurismuLb 10 1%

Calculate the standard deviation from the following data :
14, 22, 9, 15, 20, 17, 12, 11

Spsa afeurhsEnsE Sl clwssh samss(s :

14,229, 15,20, 17,12, 11

PART - I1I

‘Discuss any THREE of the following : ' (3 x7=21)
Spsetsunenn G ppeené@ edlenLwaflssab :

Elucidate the importance of indicators in evaluation and explain its categories.
wdulSiye @hsrysalar sdusgeusos CsalejubBsEmear LOHMID AHSE CIDESHMET
ellemd (& mISET.

Design a methodology for Farm Fresh outlets run by Department of Cooperatives,
Government of Tamil Nadu along with the objectives, scope and indicators only.

s0lps 2rs sl Hpedgiepwnd BLssLUBID LaTanemT yw epuenear Hleewhs@pssrer
LHISLH popow wsAu GhlsGstearsdr, Qurnmeser, CBT&ESD WLHHID GO ST 1q.8(@h L6l
L HGW euigeumLESE|LWD.

3 ' 028/DM/21
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" 8. Explain features, merits and demerits of socialism.

FLOSTIDSS G LIGHTLISMETLD, FDULGMETULLD, G@DEmaTLLD cllendEs.

-
4. Explain Independent events and Dependent events in the theory of Probability.
fapsse) Qamdrasda sriupy Hapsdlsar, sriyemLw plapséladr aenpre eramer?
5. Comment on the performance of the students of the two universities given below using
simple and weighted arithmetic average.
University Chennai Madurai
Course of study | Percentage of Number of Percentage of Number of
' pass students pass students
(00) (00)
MA 71 3 82 2
M.Com. 83 4 76 3
M.Sc. 66 3 60 7
B.A. 78 5 73 6
B.Sc. 65 3 65 3
B.Com. 74 2 76 7

Breh Losm@Esps wrameliseilar dpamoau, Heopudi L eal @ symefl wpmib ereflw sl @
gynefenws semsdl (s

LDSM&ESPSLD Qesmenert LDGIEN ]
Lg &g LMD Cair&s LOmewTeU T Cairsél _ LOMGRTEUT
LA araimenfléans Fg6lldlsID GTa et Sen s
(00) (00)

MA 71 3 82 2
M.Com. 83 4 76 3
M.Sc. 66 3 . 60 7
B.A. 73 5 73 6
B.Sc. 65 3 65 3
B.Com. 74 2 76 7
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